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Groups:
« Check your homework with each other.
« Try to come to consensus on the answers.
« When you do have me check.
« When you have all right....
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2. Using the identity sin(6)+cos?(6) = l find the value of tan(8), to the nearest hundredfh:

sin(B)is 0.7 and Bis in Quadrant Il

iu/{ /{, Algebra 2 Homework 7-6

o [Cen
a unit circle, sin(6)=% and 8 is acute. What is the exact values of cos(8)?2

a. Find your answer by drawing the triangle in the correct quadrant in standard posifion.
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a. Ifcos(8) = %, what are two possible values for sin{6)2 1 [3) "-‘
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b. Why are there two posgb\e values for smle)a
c. Find m<8 if 270° < 6<360°F0 r}(’AFeﬁ*’ fevith .
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4. If sin2(32°)+cos?(M) =1, then M equals
@. 329 b. 58°  c. 68° d.72°

5. Using the Pythagorean Identity, gTver’cos[E}] = - O,S,bnd angle 6 is in quadrant Il A—
find sin(8) and fEQ@]' fo the nearest tenth. 5_0
S AL s W= | Y]
SN 5) = | S™E— ~.9
$ =75 tomf="" =5
Siatg= | — > = cosd— ~S
ngn 1!9’:- "-75
Siad-=1L- 1

ﬂ["" Sin— 5 571\8' —'?

Aug 9-4:54 PM

- b-'
4. Draw an gngle in standard position given cos(8) = - 1/2, and ggle O is+
quodra‘ Use the triangle to find sin(6) and tan(8) to the neorei tenth. )
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7. _Using the Pythagorean |dentity, given d angle & is in guadrant
@ﬁnd the exact values of cos(8) and tan (S ——" §[]\ A-
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8. If sin2(8)+cos?(m) =1, then 8 aguals ]
a. -8 b. /3 @ d. /2
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Application Word Problems: =13

720

1. A bicycle wheel with a radius of 13" has a valve cap positioned af the highest point of

the wheel. If the wheelis spu @ one dirgetiomyhow high is the valve cap above the
———— ) . o

grounds Round your answer to the neareg cn inch.
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